PORT. :hager

Product Environmental Profile
Aerial socket 3hole single socket, communication technology

Company information References covered

Hager For the complete list of the covered references, see details in Appendix 1.

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: info@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product

Reference product identification Protect, link by a connection point for 30 years (reference service life) with a 70% use rate for an application
WDF459310 Residential excluding LAN, as defined in the table given in section 3.11.1.2.

Use scenario based on :
PSR product Category : PSR-0005-ed3.1-2023 12 08 The functional unit is based on the use scenario recommended by the PCR for the category of the reference
3.11. Copper Telecom accessories product.

PEP ecopassport 1/5 HAGE-01489-V01.01-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

Plastics Metals Others
] % ] % g %

Epoxy resin 1.04 0.8% Zamak 73.00 58.1% Cardboard 27.51 21.9%

PE-HD 1.00 0.8% Aluminium 7.70 6.1% Wood 2.98 2.4%

PE-LD 0.60 0.5% Stainless steel 5.70 4.5% Glass fiber 1.60 1.3%

PA6 0.50 0.4% Steel 1.92 1.5% Paper 1.01 0.8%

Silicon rubber 0.27 0.2% Copper 0.15 0.1% Vinyl Ester Resin 0.14 0.1%

Other 0.24 0.2% Other 0.20 0.2%
'[I)'::(Iar;\ie:lzs:of reference product with raw material 12557 g
Total mass of reference product 119.37g

(Product + packaging)

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufacturing Distribution Installation Use End of life Module D
o
£
o < 8
S 2 = 2 O =
5 ° c c — = £ Q° 29 ©
2 © 5T S D > °
= & S S 3 E =] o ¢
B o £ = = c 2 o = 9 o 3
o2 2 e oo c o S s @ I 20 o9 s o o2 S8
=5 S < @ ° & = 5] S 5 c O == k<] 2 L e _ o Qo
83| £ 5 §8 58 g2 5 = £ 2 e | a2 | 58 | gE | 8¢ g T E
—_ st = = = - @ © = o ® > c
58| @ 3 EES £% 2% 5 3 g 5 gg | 5g S 88 | 26 g G2
= < = o = [oug=1 = Q © =2 £ 0 P} @ [ZRe=] u= 14
= = = = o = 7] e o = @ N >
g5 | 3 2 £ 53 g3 < 2 S 3 33 | 55 g se | 25 | B gao
S g = ] 2] 7] 5 2 (] D o T o D S = £ 0 5
EE | x 2 aa £3 o8 | = 4 « £ | o< a g | 82 cg
= -
2 © © o @ 5 0
T 3 < b= 55 = 2 © T » ]
14 c = = 2 © ES o> )
c i = =2 y
i 7] o
=
k]

B3 B4

Life cycle stages

Manufacturing Distribution

These products are manufactured by a site that has received an environmental certification The packaging has been designed in accordance with current regulations. In particular,
1ISO 14001. the European directive 94/62/CE relative to packaging and packaging waste.

This phase takes into account raw materials, manufacturing processes, production offcuts The used packaging is 100% recyclable or recoverable.

and their end-of-life treatment, upstream transport of materials and sub-assemblies to the Packaging and logistic flows are continuously improved in order to reduce their impact.

manufacturing site, and transport from the manufacturing site to the final logistics platform.
This phase taken into account the transport of the finished product, including
packaging, to its place of use.

Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the packaging waste treatment.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent Power consumption / not load dependent

Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time
0 70.0% 0 30.0% 0 100.0% 0 0.0% 0 0.0%

This corresponds to a total energy consumption of 0.00 kWh for the use span of 30 years. As precised in PSR5 ed3.1 paragraph 3.11.2.1.2, the power losses for this product range — Outlets for 75Q TV
networks — are disregarded.

Energy model of the use phase :
Europe

Consumables and maintenance :
None

PEP ecopassport 2/5 HAGE-01489-V01.01-EN



Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 72%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

All calculations are done with EIME software version 6.3.3-9 with the database version CODDE-2025-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation

A1-A3 A4 A5
Europe Europe

Europe

End Of Life
C1-C4
Europe

Environmental impact indicators

Indicators Unit

Acidification (PEF-AP) mole H+ eq.

Climate change - Total (PEF-GWP)

kg CO2 eq.

Climate change-Biogenic (PEF-GWPb)

kg CO2 eq.

Climate change-Fossil (PEF-GWP) kg CO2 eq.

Climate change-Land use and land use change
(PEF-GWPIu) g Coz Ry

Ecotoxicity, freshwater (PEF-CTUe)

EF-particulate Matter (PEF-PM)

diseases

Eutrophication, freshwater (PEF-Epf)

kg P eq.

kg N eq.

Eutrophication, marine (PEF-Epm)

Eutrophication, terrestrial (PEF-Ept)

mole of N eq.

Human toxicity, cancer (PEF-CTUh-c) CTUh

Human toxicity, non-cancer (PEF-CTUh-nc) CTUh

lonising radiation, human health (PEF-IR) kg Bq U235 eq.

Ozone depletion (PEF-ODP) kg CFC-11 eq

Photochemical ozone formation - human health
(PEF-POCP) kg of NMVOC eq.

Resource use, fossils (PEF-ADPf)

Resource use, minerals and metals
(PEF-ADPe)

Water use (PEF-WU)

Resource use indicators

Indicators Unit

Net use of fresh water

Total primary energy

Total non renewable primary energy

Total renewable primary energy

Non renewable primary energy used as energy

Non renewable primary energy used as raw
material

Use of non renewable secondary fuels

Renewable primary energy used as raw
material

Use of renewable secondary fuels

Renewable primary energy used as energy -

m3
MJ
MJ
MJ
kg

Use of secondary material

PEP ecopassport

Manufacturing Distribution Installation [VETY End Of Life

A1-A3 Ad ‘ A5 B1-B7 c1-ca ‘ el MocuelD
2.86E-03 3.14E-05 8.40E-05 0.00E+00 9.74E-04 3.95E-03 -1.83E-03
5.82E-01 2.01E-02 6.84E-02 0.00E+00 1.96E-01 8.66E-01 -2.92E-01
-2.55E-02 3.31E-05 4.19E-02 0.00E+00 2.06E-02 3.70E-02 -1.18E-02
6.07E-01 2.01E-02 2.66E-02 0.00E+00 1.75E-01 8.29E-01 -2.80E-01
2.62E-08 3.05E-08 2.71E-10 0.00E+00 7.64E-10 5.77E-08 0.00E+00
1.94E+01 5.76E-01 3.95E-01 0.00E+00 2.04E+00 2.24E+01 -9.73E-01
4.57E-08 2.71E-10 4.94E-10 0.00E+00 1.09E-08 5.73E-08 -2.24E-08
2.25E-06 7.50E-08 3.79E-07 0.00E+00 5.24E-06 7.94E-06 -1.02E-05
4.59E-04 5.72E-06 3.53E-05 0.00E+00 1.46E-04 6.46E-04 -2.56E-04
4.97E-03 6.29E-05 2.60E-04 0.00E+00 1.64E-03 6.93E-03 -2.92E-03
5.93E-08 3.90E-12 3.02E-09 0.00E+00 3.77E-09 6.61E-08 -4.33E-09
1.78E-08 7.44E-11 8.67E-11 0.00E+00 4.79E-09 2.28E-08 -6.81E-09
1.85E+00 7.05E-04 4.33E-03 0.00E+00 1.05E-02 1.87E+00 -6.40E-03
5.90E-02 1.33E-04 2.66E-03 0.00E+00 4.11E-01 4.73E-01 -6.70E-01
4.38E-08 2.34E-10 4.20E-10 0.00E+00 1.32E-08 5.76E-08 -1.25E-08
1.37E-03 2.03E-05 5.87E-05 0.00E+00 4.62E-04 1.91E-03 -1.00E-03
9.95E+00 3.57E-01 2.75E-01 0.00E+00 2.30E+00 1.29E+01 -3.07E+00
8.82E-05 7.29E-09 6.48E-09 0.00E+00 1.37E-06 8.95E-05 -8.53E-06
3.69E-01 7.39E-04 2.30E-03 0.00E+00 1.39E+02 1.39E+02 -2.91E+02

Manufacturing Distribution Installation [VET) End Of Life

A1-A3 A4 ’ A5 B1-B7 C1-C4 | el poctielD
8.64E-03 1.72E-05 1.81E-04 0.00E+00 3.34E+00 3.35E+00 -6.76E+00
1.30E+01 3.59E-01 3.32E-01 0.00E+00 2.71E+00 1.64E+01 -3.78E+00
9.95E+00 3.57E-01 2.75E-01 0.00E+00 2.30E+00 1.29E+01 -3.07E+00
3.04E+00 1.46E-03 5.73E-02 0.00E+00 4.16E-01 3.52E+00 -7.07E-01
9.78E+00 3.57E-01 2.75E-01 0.00E+00 2.30E+00 1.27E+01 -3.07E+00
1.69E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.69E-01 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
2.49E+00 1.46E-03 5.73E-02 0.00E+00 4.16E-01 2.96E+00 -7.07E-01
5.52E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 5.52E-01 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

3/5 HAGE-01489-V01.01-EN



Waste category indicators

Manufacturing Distribution Installation

A1-A3 A4 A5 elbell

Indicators P

Hazardous waste disposed 9.78E-01 8.48E-05 2.02E-03 0.00E+00 9.68E-03 9.90E-01 0.00E+00
Non hazardous waste disposed 1.13E+00 1.87E-03 7.82E-03 0.00E+00 8.40E-04 1.15E+00 0.00E+00
Radioactive waste disposed 2.86E-04 1.48E-06 1.80E-06 0.00E+00 3.80E-07 2.90E-04 0.00E+00

End Of Life |

Output flow indicators

Manufacturing Distribution Installation End Of Life
A1-A3 A4 A5 B1-B7 c1-c4

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Indicators GLOBAL

Materials for energy recovery 1.36E-03 0.00E+00 2.26E-03 0.00E+00 0.00E+00 3.62E-03 0.00E+00

Materials for recycling 2.50E-02 3.41E-12 2.06E-02 0.00E+00 1.22E-10 4.56E-02 0.00E+00

Biogenic carbon content

Packaging Cardboard

Biogenic carbon content (ratio) 2.80E+01 3.78E+01 3.95E+01
2.75E-02 1.01E-03 2.98E-03 3.15E-02
Biogenic carbon content (declared unit) 7.70E-03 3.84E-04 1.18E-03 9.27E-03
Biogenic carbon content (functional unit) 7.70E-03 3.84E-04 1.18E-03 9.27E-03
ADEME APESA/RECORD EN 16485
ano a Pap ood
0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

Drafting Rules PEP-PCR-ed4-2021 09 06
Registration N°: HAGE-01489-V01.01-EN

Supplemented by PSR-0005-ed3.1-2023 12 08
Verifier accreditation N°:  VH64 Information and reference documents: www.pep-ecopassport.org
Date of issue: 3-2026 Validity period: 5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal @ External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Ill environmental declarations »

Nota :

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a
concrete application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport 4/5 HAGE-01489-V01.01-EN



Appendix

(PEF-ADPY) - [MJ]

Acidification (PEF-AP) - [mole H+ eq.]
Components for re-use - [kg]
Exported energy - [MJ]
Hazardous waste disposed - [kg]
Land use (PEF-LU)
Materials for energy recovery - [kg]
Materials for recycling - [kg]

Net use of fresh water - [m3]

Non hazardous waste disposed - [kg]
Radioactive waste disposed - [kg]
Resource use, minerals and metals
(PEF-ADPe) - [kg Sb eq]

Total primary energy - [MJ]
Total renewable primary energy - [MJ]
Use of renewable secondary fuels - [MJ]
Use of secondary material - [kg]
Water use (PEF-WU) - [m3 eq.]

Resource use, fossil
Total non renewable primary energy - [M.

Climate change - Total (PEF-GWP) - [kg CO2 eq.]
Climate change-Biogenic (PEF-GWPDb) - [kg CO2 eq.]
Climate change-Fossil (PEF-GWPS) - [kg CO2 eq.]
Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Eutrophication, freshwater (PEF-Epf) - [kg P eq.]
Eutrophication, marine (PEF-Epm) - [kg N eq.]
Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]
Human toxicity, cancer (PEF-CTUh-c) - [CTUh]
Human toxicity, non-cancer (PEF-CTUh-nc) - [CTUh]
Non renewable primary energy used as energy - [MJ]
Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]
Renewable primary energy used as energy - [MJ]
Use of non renewable secondary fuels - [MJ]

Renewable primary energy used as raw material - [MJ]

lonising radiation, human health (PEF-IR) - [kg Bq U235 eq.]
EF-particulate Matter (PEF-PM) - [Incidence of diseases]

Climate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]
Non renewable primary energy used as raw materi;

Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC eq.]

j2Nsp)
(= ISR =ooco0| oomcor| soseoe| ooreon| someao| aoomon| 1oweion| szseao| wooens| ssreon) oonesso| srocor| ssocoo| 1rscas| roseion| ssocoa 1sscas| sneoe| wieon) ssaeseo] srocion| roseor] sancas| woreon| 157 ssmcan| zascion| sszeor| soseian| soseos| sserco] ranesor] sosein] omeso] oonesan| aocin] seseen
=
=
e IEZE A soseos| sceon| 2ssear| suseon] zusan| omenn| soven| zuneos| asreor| wsseos| oooma| vseor| saseos| roces| sssman| suseoe| rsves| ameae| vsseos| ool ossmo| vsseor| voneos| asess| vereas| zaveos] czseuo| suseor| soven| sueas| soer| sasen| 2r0eo] omenn| ooreo) ooe| sseor
©
8
5 WRIZECEAEMI oosco| oarcor| 2s0c00] ouscan| soncon| ovoeio] soneian| soneon| srreos) sreca| acomon| reresoo] 1suear| roseon| osoeioo] sasear| rseon| 2socoa) srcas| sooeon| roueior| asmear| srocon| semeon] 1ereas| zoseos| camerco] srear] soseir| srseos| sonesor] ssoeior| ssneioo] oonesan| ococin| omeso| sracan
=
g WAZEVIICMIN coicon| orscor| smeae| reon| 2seos| omeno suscrn| sveos| soreas| sancas| oomewo] srsero) sason| ssrean| wsoeso| rweor] vwreos| ziscon| rovear| roeor| o] suseio] soscon] soseon| soreas| soneos| vsseor] ssieor| vzmein| soear] 12| 13| suseio) osoein| o] ssean| vreeon
WZETENIER 5oco0| sonciso| 7rocor| soreioo] 1ancas| aooeion| ssocson| 1aseas| sazenn| suscoa) oonesso| wwreion| roscoo| sameas| roveion| rozeor] omeas| rosoa| ssocoa) seresao] swocior| aoneior| aracas| woseon| sweor] oarcas] cien] ssseor| ooseen| roseos] osieion| sosesor] ssein| omeico] oonesan| ococin| oo
WAZEEDICIN e rvicor| sseae| rrmeon| 2seos| omenol aorevn| ssson| oeas| someos| oomeo] viseror| soeon| sonean| sseo| reor] 1soeos| 2ucon| soeae| rear| | sameio] ssicon| wroson| saseas| oameos| oureor] suzeor| vaocir| womeas] vaveer| vase| ssseio) ovoern| o] 2seaa| vareon
WZEEONIERM <oocoo roncan| orreoe| roocon| asseas| aooson| ssrewoo] aurea| oonens| asseon) oonesao| rissor| siocoo| osmcas| swcion| aszeon] 1smeas| zesoe| rioeor] vesear| vieor| vuseioo] suscas| wsoon| 2zmeor] voncar| seor| uzeor| rasar| woseos| saser| saresor| sovcin] omeso| oonesan| zseoa| seseer
c <
o | LRI o cor| zovean| ssveos| 2oec2] soscos| ovoeon| srmsar| roseo| srae| ozeos| owoern| sasgos| sovea| ruuens| raseos] vsseos| oooeon| sarera| vraees| rweos] ssreor| ovoevn| aseso| areso| aueos| viscos| rascon| oooeun| sorear| vaseoo] ssreor] ssocor| vaseon| ocosn| ooneo| omeio] rveos
3
2 WIRIZEPAIMI o rocos| socoe| azocos| 1ssean| sooeon| owoeioo] sriear| raseon| seocoo| ozmeas| acomon| swreos| samea| rasest| asocos] 1smeas] acomon| assere| vrieas| roseon| sieor] ooneseo| zseso| 2eseo] svveas| roreon| ruseoo| oonesan| ssieor| rzseon] sssear| ssoror| raseos) ooneson| acocin| omesco| vaseas
k7] WISIZELRAEMIN soeos| zoeoa| sueos| 2omeon) sieos| ooocon| sovean| raneao| soscoo) sovos| ovoewon| wazeas| wosea| vrsen| rsveos| vsveor| ooomon| sosea| vimes| rsueor] srieor| ovoevn| zasro] asrero| arieos| vsacos| rseon| ooeun| srear| vaseos] srieor| ameor| 1sreon| o] ooneo] omeic] rscos
WISZEICIZIEMN «orcon| 2o0c00 1oscar| soncoe| soocoo| oonesso| rrrear| soscoo| raseas| soreos| oweioo] 1rieas| sasere| sssen| ouseas| 1ieos| oo oonesso| sasos| 2w sracar| acomon| 3o serero| ameos| rsscoo| vuseas| oooein| arseor| osmeas| arseor| smieor| 1sseas| ocoein| omeso] oonesan| sooeos
WRZETCNIEI oscos| 1zico] ovcos| saocon| rosean| ooneso| suseor] asoros| suscon| sreas| ooo| sameos| asiea] sasenr| smeor| roseos| oomeo| zose] voseos| vieos| aeor] ooneso| vuseio] vezeao] raeos| wassar| wrneas] o] 2ueor] asen] zueor| aieor| smeos] ooneo omeno] osocin| waeas
WIEZEEVICHIN «ocoo| 2ooc00 1rrear| soncoe| ssocoo| oonesso| sosear| roreor| omeas| soneos| oweioo] 1ameas| sorese| roreo] 1oreas| 1ze0u| owoeio oonesso| zaveos| 2esco) soncar| acomon| ureso] sasero| zoeos| 210eoo] vancas| oooein| soscor| voacas| soseor| sroeor| vancas| ococin| omes] oonesan| 1oveen
WRZEEIOIER <cocos| 2escon] vreor| 2ocon| wssean| ooneso| osseor] soreor| waocon| soveos| ooo| 1aveos] sorea] roreso] sovean| 1aaeon] ooneo| oomer] 2uocos| assccs| sosear] oonesso| sureso] sweaol aweos| zgos| 1eseas| ooneo| sweor] ro2eon] soseor| suoear| vaneao] ooneio) omeno] ovocvn| roveas
c
(SR ISR IO o ocos| ooeca| wsocoe| 2oscoa) arieco| aooron| asscor| srscar| seos| 2eocos| oonesao| soeeos| wmcoo| oarer| wsieos| 2escon) szseas| soseoe| roveos| vaseas| zrseor| omeio| saneo| woseso| soreos| vancas| sroe| omeo| arscar| sweon| ewseor| ssaear| sroe| omeio| oonesan| ococin] 2zoeer
©
= WISIZELPAIMIN e socos| oomcon| azreoal 2ricon) 2roeso] ovocon| wonean| sameor| savcos) 2escos) ovocvn| zoseas| sosea| omens| awreo] arieas| zveos| svoeor| seos] roreos] 2socor| ooocvn| wamerof souero| sameos| vwseos| ssscon| oovenn| ssmear| osreos) 2soror] sscor| swece| ococn| ooneo] omeno] 2sacos
ooncos| asocoa| szrcas| amese| 2roctol oomeso| woreor| asscor| sancas| soseor| oweio] suscas| soseos| awen| ssreas| amess| 2sveon] avocas| roseos| roreon) samcar| ocomon| szseol soueof soseos| reocoo| sascan| ococin| 2oocer| ssrcan| zoveor| asscr| sascan| ococin| omeso oonesan| zveer
2 WDF459315
WAZEVIICMIN 1socos rwrcor| smeae| soneoa| asseio] omeno] asvcor| woscor| roseas| samcor] oomewo] sracos| amees| roseso| ooreas| 2useos] srreos| suscon| swear| 1esear| orveor] omeno] amreso| iees| rseas| sureo| weor] omeno) wiseor| saean| srsear| vuseor| asreor| osoern| oooeun| ooeseo| srsees
WIRZEILIIERN 57vcos| ssreoo| orrea| 1oncoe| 2oveio] oonesso| sorear| 2sreor| sascas| 1rocor| oweio] 1ascas| soveos| swoen| swmeas| roseon| 200cs| vusean| 12e0s| szre] 1ercan| ocomon| 2oseao] sameo| soreos| roveoo| soncan| ooocin| roreor| srscan| roreor| 2zseor| soncan| ococin| omeio] oonesan| 1socer
WHZEEDICMIN isocos rwrcor| smeae| soneoa| asseio] omeno] ascor| woscor| roses| samcor] oomeno] sracos| awees| roseso| oreas| 2useos] srreos) suscon| swear| 1esear| orveor| omeno] smreso| iees| rseas| sureo| wweor] omeno) wiseor| saean| srsear| vuseor| asreon| owoern| oooeun| ooeson| srseen
WUIRZEEIERN oocor| e orican| soocoe| soocio] oonesso| soneor| aweor| roscas| soseos| owewo] srucas| emeos| roseio] oomeas| zveeos| srreos) sssean| soveos| roscoa rsear| acomon| owmeo 1racas| raeos| wreoo| oavean| ooocin| srscr] sascan| weor| roscer| oavean| ococin| omeso| oonesan| siocer
o~
e | ISR ooocoo| ooocvon| oooeuso| ocneio) omeioo] osoeon| ooossan| oooeusof ooneio] omero] osoeon| ococon| aooesao| oonesso| oonero] osoeoo] ococon| aoocuao| oonesso| ooneio] ouneoo] osocon| ooocsan| oonesso| ooneio) omeoo] osoeon| oooeen| oooesan| oonesl omeoo] omeon| ocoeen| ocossan| oonesco| oonero] oo
S
O IEITEAOI oswcoo| sosor| socoa arscor| roscon| ovoeio| oarcan| sason| zoicos srocas| acomon| 2escoal osreo| zareos| viseio] vasear| acomon| soreoo| vareas| araeoe| ssreso| oonesao| woseon| 2sscoo| ourean| saos| rowcio| oonesan| ssreir| rreoo] soreer| zoreir| soicion| ooneson| ococin| omero| racan
ANTSZE AL oooc-oo| ooocuso] ooneuso] oouero] ovoeoo| ooovon| aoossao| ooneuso] oouero] omoo] ovoeon| ooogvan| oooeuao| oonei omeroo] osoeon| oooeon| aooeuao| ooneuso| oonero] oumeoo| ocoeon| aoocsan| oonesso| ooneio) oumeoo] osoeon| ooeon| wcoesan| oonesol omeoo] omeon| ocoeen| ocossan| oonesc] osnero) oo
WISSEILIIEMN «ocon| ovscor| 1ancan| roscor| ooociol oonesso| rason| roscoo) ssneas| soneon| owoeioo] szsean| roreso| 2s0coo] soresao| ziecoe| sl oonesso| raseon| rzoer| soneier] acomon| auscoo| saucas| rs0eon| 2escos] asreseo] oocin| ssseior| asscar| soscir| svrei| wsresan| ococin] omeso] oonesan| aece
WRZETCENICI 2oucos| asscon] socor| arscor| vosean| ooneso| oareon 2mseos| aoscor| srosas| ooo| 2aseoa] osiero] 2meos| viocon| roseon| ooneo| sareon) rsveos] amece| | ooneo| saeos) 2sseos| sweor| smeas| sosen| ooneo| vereio| 1rreas) ssreir| zovem| soseen| ooneo) omeno] osocvn| siean
WISZEEVIEMIN «ocon| ovscor| 1ancan| roscor| ooociol oonesso| raseon| roscoo| ssmes| soneon| owoeioo] szsean| roveso| 2socoo] soresao| ziecoe| sl oonesso| raseon| 1zoer| soseier] acomon| auscoo] saucas| rs0eon| 2escos] asreseo| ooocin| ssseior| asscar| soscir| svrei| wsreson| ococin] omei] oonesan| aece
WRZEEIICR coscos| ovicor] roocoz| roscor| oooseoo| ooneuso| 1azewo] 1sseos| sseor| woveas| ooeuso| 2aseoa] voreo] 2socon| rorevn| zsscn| ooneo| oomero] vuacos) rzor| rosen| ooneso| suseos| ssucos| rsscon| zseas| asreo] ooneo] vaseio| vscor] ssseir| zum| asreo| ooneio) omeno) ovocvn| sean
O <
= sreos| 1oocor| ammean| 1rsmor| rosctol ooneo| owun| sowcoo| vuscos| rosecs| owoeioo] oascas| srreos| arocoo| voscan| wveor| oweioo] 1zzetof asicon| ssocos| sanesao| acomon| rsacoo| voscas| wooeos| wocor| srocar| ococin| cameico] 1areas| 2s0ein| oriei] srecar] ococin] omeio oonesan| socon
= WDF459310
7
==
oSN MRILIZE LA orocor| 1oscor] soreon] voscor| rasesof ooo| avnewo] ameos| sreos] vaseos| oooeo| varea| sareoo) asocos| ssseas| soseor| ooveso| 1zmeo) 2svero) ssocos| zoscuon| ooeao| 1ireos| ssoeos] srscos] smor| srear] ooneo| soseio] raveos| zoscun| | srien| ooneo) omeno) osocrn| rasen
©
2 WISIZEEREEI o5ocos| 1sucan| zrrece| roocon| soseao| aooeion| o] sorca| rseos| roreon) oonesao| 1osece| aeocoo] ssscas| 1moe| awscor oonesao| roreso| srzeioo] 1aucas| 2zcion| owmeioo| 1ascas| rovwon| ssscos] somcar| woseor| omeio| sezeson| 1aon| ozmeic] zenesan| woseor| o] oonesan| ococin] 1anein
w
WAZEVIICMI ovscor| rorcor| soae| 1oreon| sareo] omeno] sosewn| 2uocon| osacas| omeos| oomewo] sr0eoa] aoseon| wsnean| oameas| 1sseor| omeo) ovoewn| sueor| wrseu] ssneo] omeno] sveos| soseon| sasean| swreor| 1mmeor| owmero) ssocsn| sacear| ssnesso| 1aseico] 1o2con| ovoern| oooen| oooesen| 1sneen
WIREEILIIERN +cos| roicoa| orsca| 7iocoe| sreto] ooneiso| rocion| roscoo ssncas| wascor| owoeioo] 1ancan| 1oveon| 2oucoo) sascas| raseoe| owoeioo] ssrer| zsawor| asscos| sascar| acomon| aoreoo| vsseas| riocor| romcor| samcan| ooocin| seocor| vescar| soscor| srveor| sancan| ococin| omeio| oonesan| asecin)
WINZEEITICMIN sorcos rsocor| soae| 1recon| osmeo] omeno] swsero| zueon| voscos| oameor| oomewo] smicon] aoscon| suveas| oareas| 1sseor] omeno] ovocwn| sueor| woseos] srseo] omeno] sscos| soseon| sonen| ssmeor| 1mmeor| ommero) ssocsn| sacear| sssesso| 1aseico] 102c0r| ovoern| oooen| oooesen| 1sneen
WIRZEEWIER sorcor| rsocor| 1arca| 1rocor| asoctol ooneiso| soscon| 2urcoo| osscas| omeos| owoeio] szrcan| soswon| oo osrcas| roscor| oooeio] oonesso| soor| ssocos| sioesao| acomon| asocoo| ssmcas| zsveos| asocer| 1oacar| acocin| 1sscioo] ssscar| ssocin| saveioo] 1oacar] ococin| oamei] oonesan| ssocion
WISIZELRAOMI - oocoo| 2o0cn| 11meoa) 2m0en| ovoero| ovocon| sraean| voneas| asseos) 2s2e05) ovoevon| oooren| usseas| smeos] ss060s) arocor| oooeon| aooeuao] sraeu| oonero) sorevn| oooevn| 1asean| 2aseao| 1meos) oweoo] roreor| oooen| soresen| osseoo) sorewo) srevn| goreer| ooesan| ooneso] omeno) 2srenn
=
= WBIZEIPEIN - ccc00| 20| roscoe| zaocon| oooesoo| ooocoo| aszear| soreos| 2zrcas| 2sco| osmeron| ooocioo| aweas| woiwoo| sereas| sameor| aoocian| oooeioo) soscian| ooveioo] 272ei00| oouesoo) 411cos| sucos| soocor| ooueson| sareon| oooeson| 272cif rsecon| 2racio 3sei0n| 2| ommeran| oooioo osmeian| zsveon
<]
= WISIZELRAEMI 7 con| 2r2con| 1vieoa] 2orcon| ovoero| ovocon| sosean| osmeao| 2sveos] 2racos) ovoewon| oooron| wosean| ssreos] ssoeon) azscor| oooeon| aooeuso] sszeuo| oonero) 2orenn| ooocwn| vean| aoneao| wseos) omeoo] sieor| oovewn| 2oresen| vareoo| 2areio) sssewn] aseor| o] ooneo] omeno) 2rzewn
WIRZEILIIEMN soreor| 120001 1sscao| raneor| ovociol oonesso| 5near| -a0scos] soucas| 1ose0n| oo oonesso| sssero| -a00c00] 157 -250m00| oo oonesao| s1mor| oaneio) 1oacsan| acomon| ssocoo] sorcas| usoeos| ommeroo] vercar| acocion] 1oz vasca| 1oacin] 1sncio0] varcar| acocin] oameiol oonesan] secion
WRZETENICI 2orco1| or1eon] saocos] soscon| ooormo| ooneuso] 1useon| useos| 4ascon| sorean| oooesso] oonewo] ssoet] ascos| 79goe] cvsseoo] ooneso| oonero) amocor| ovocwn| uregan| oonesso| azeos) szucos| azseos| oooren| smen| ooneo] arseor| oseor] amor| surear] vameon| ooneio) omewo] ococsn| veean
WIRZREVIEMIN sorcor| 120001 1sscao] rancor| osociol oonesso| 51near| -a0scos] soucas| 1oseon| oo oonesso| ssseto| -a00c00] 157 200m00| oo oonesao| s1mor| oaneio) 1oaesan| acomon| ssocoo] vorcas| usoeos| ommeioo] vercar| acocion] 1oz vasca| 1oacin] 1uncioo] sarcar| acocin] oameiol oonesan] 2secion
WTRZEEITCR s5rco| 1zse01| 1960s] zoear| oootemo| ooneuso] svieon] soneos| soseon| voseas| oooesso| oonewo osaeto] soneos| rean| soeo| ooneso| ooner) rocor| ovocwn| rorean| oonesso| ssseos) soreos) oseos] oooren| sarean| ooneso) 1oueio) seos] soaeun| o] suvean| ooneio) oameno) ococsn| s

PEP ecopassport 5/5 HAGE-01489-V01.01-EN



